EE322 Quiz Fall 2012 Name: K EY

1. In the plot below, A[r] is zero at all n except those shown. Sketch JIn] = A2n]-recty[n - 2].
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2. Given: x[n] = cos(2nn) — cos(5nn/2). Determine the period of x[n].

xInl= cos(2wn) — cos<1-ﬁ% n>
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3. Determine the energy E, in one period of x[#] from problem 2.
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4. A continuous time system is described by the equation y(#) = x(¢ + 5). Classify the system for linearity,
time invariance, stability, causality, memory, and invertibility.
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5. Solve 10log(0.02) — 10log(200) = Yo
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Bonus: Four US Presidents have been assassinated. Name three of them.
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